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I. 7 mwn: ®wn for men; two more items for women
a. Dispute: ®™/D'n5n about implements of war (sword, bow, shield, lance, spear) as v’van for men
i. ~77. they are ornaments (0'wan, per v. 4) and he is not 2n -
ii. o'pon. they are degrading per v. 1
1. Argument: if they are ornaments, why will they be destroyed in the future?
2. Defense (879): they won’t be needed
a.  Counter (71K): since they won’t be needed, they are like a candle at midday — »xwn
b. Note: this entire line of reasoning is counter Y®11v’s — who argues that mwnn mn’ will see no changes
in human nature, just political liberation for Y87 oy (vv. 2-3)
i. Note: it is possible that 8”1 maintained that these weapons will not be nullified in the future
1. Therefore: they are always considered ™
2. And: his read of mwnn mmn’ is akin to that of YRmw
iii. Aggadic tangent: value of NN Tndn and protection for N (vv. 5-11)
iv. Aggadic tangent: interpretations of vv. 12-13
b. Additions to earlier mawm:  Items for women:
i. 117722 (holds up socks): is 19w and she may wear it
ii. 252 (leg braces): are wrnv and she may not wear them on naw
1. Discussion: 1’1 is a leg-ring, as is 0’713 — but they are 2, chained together
a. Reason: for nkmv — not due to sound made (per v. 14), but chaining together was used to keep
girls’ steps short (per family in w%w17); explanation supported by report of any "
II. Tangential discussion about D>T11 nrnMY
a. v 71 (via 077 “1— corrected version): sources for nkmv of jewel and woven piece at no minimal Myw

i VYo7 no minimal MYY — from pox
ii. 2275 no minimal YW — from v. 15 — 731 R

b.  ’r7772(w/X37's explanation): each of the above; V*WIN+1IR is RNV, per v. 16 — NWYN HI; PY+TI1 is RNV as an PIR
(even if not woven; 1y ties three strands together to put around his daughter’s neck as a minimal v*wan)
i. Challenge (to 827): v. 16 is written in re: P *92 (only nn nxrmv)
ii. Answer: infer via *93::993 (which is written in context of each nrnv)
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c.  Extension of pw & (v 15): extends to pulling-straps used for horses
i. We may have: thought to extend it to unspun ropes; pw defines it as spun or woven
ii. Note: in re: nn nrkm (v. 17) it also defines as spun or woven, including o’pan etc. and excluding unspun
1. Question: why not infer it via aRr 12 from 7w nrmv (v. 15)?
2. Answer: nn NRMY is more severe than v NRMYV
3. Therefore: 1) Taa:: W (vv. 15, 17) equates them
a. And:just as we allow for any o1y nwyn in re: nn nkmv (v. 17), we apply same to p7v nkmv
b. And: pv R extends it to garments made of any animal hair (including from horse-tail)
i Clarification: we used pw R for n’pan etc. before we had w"n; afterwards, it was “left over”
c.  Then: we extend nkmv of garments of any animal hair to nn nrkmv
i. Challenge: Y79 nRmY is more common (27 NRMV)
ii. Therefore: w"1a of MM Ta2::1 a1 overcomes that challenge
iii. Analysis: 11 12 must be mawm (fully superfluous)
1. Else: we could have challenged w”: y7v is more severe, in that it allows for nrmv as small as nwTY>
2. Indeed: it is M9, since p7Iw NRMY is compared to Y1 N1dW NRMV (juxtaposition of vv. 18-19)
a.  And:1"w nrmv already mentions 1 T2 (extending to n'pan etc.) — v. 20
b.  Challenge: that is only valid if we take position that Tn® T2n Mo is invulnerable
i But: if we hold that pa>wmy prnb ‘R 780 mom, why don’t we break down ar 11 on point?
ii. Answer: M) 11 is PTTX VN MM, since NN NRMIV is also compared to pIw NkMY (v. 19)
d. Conclusion: wwYm on vv. 21-23, the lascivious nature of the garments they captured, the need for n183 even
though the soldiers never violated the commands and w" exhortation about nyn nvnw
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